% T
GECRROFRHER]

3t B A

%
=

WRBRUREXL
£ B
£ B =

TEDER
BRRUSEZLR
T E O F W
WRRUFREXR
WERUSEXR

=
B %
2
2
HERUSEXL

BRARUSEXH

TEODEXK

RN

zoloFEREFOLE

zolnFEEETORR
Z0ROFEREFORE

g B %

B B %
zofioFERBEEORE
zOROFEREEORE
B &
B %

o o W oo m

zofioFEREEOES

D
zohoHLREEOER

Z0hOFEREEOEE
B
B
B

WO W W

il i,

BRARUZ7u—%
BERURXT7o—¥
BEARUR70—¥
BRRUZ70—¥
H

=]
=}
B
ToloREREEORSE
zol0FEREFORE

1oltoFEREHORS
ZOHOFERAFORS
|

B

=
=]
g B

*=5.11 £
@FETE, AO105X)
£ 1 g 3 f E
£ w®
i ® 3t B x| &
HERE |WERUREXE £ % B 2 % H1BIE OB O% Z =
3 |HERUREXHR = % BomEE B 1208 B % £ 3
38 (FEARUSEXH % ¥ Bl % & B| 163.4[E = g %
13 | BERUKEZR g g B k|4 DLEER E4 =
KE AF [HREURETR g B #% 2 £ Bl 2007 I EF & B 128.8/% =
9 |WRERUKEXHX = B % & &  Elwmidayunzr¥y ird 2
1 |BERUSESHE ¥ B % s £ Bl mE & B ES =
BusE|E B % WRRURERSR 2 B K| 1se6mmE R R % =
0w |2 B BERURESTE OB X Im2Rm ¥ XA E =
B |2 B Tk RUTETH BoE K B 1mIE B % =
2l # # Bk BUSERR g B #|1é3mmE K E
2 |2 B B g B %|100.9|WERUREXX
u |2 #® X & RARUSETR| 10008 B %
5 & # | BARUREYSR] 828 B
% |BWmEE B RARUSESR| RAE R FED
27 |BmEER = % & & P| 80.9[EF AR UTERLSR
28 | W E K 2 % | 77.6|HARUREXR £ ®
29 |BMh¥EKE E3 | 6.5 B &
30 |Bm %K ES = et & B & B ¥
31 W E KB ERFED =3 = wmelo B B
32 (BmEKE EEHED E =| 8051y E B HERUREZR
3 | E KB & % B| 6L8|E = MR URETHR
30 |Wm E R B ERFED & & B LTE = BREURETHR
B |WOmEE R EBRFED & & B| B2E -3 WARURELR
3% |KomEE B ERFTED o B B i = TEOEK
37 |l E K E EREFEYD o & B 2%E = PARUSESLS
33 |BmE KB ERFED L E B| 04E = E SORE=3 ¢
p WmERS EREFED o & Bl n3%E = TR O ER
g 1) EREROBUHCOVLTRERSERESEILV,

BASELE R UBHSEL B R T~ THERE A,

BRI RBEMRELAEL FERAFEIEDLo>TW3DTS iz TERLI.

BASELBOERLRE BN 15, (BRR12E) 45, BBE5F
FEE) 4, TREFEOEROTERE] 0L TH3.

BAEEO [TOROFEREEORE] 1, BUTOBOFEREHORBERUERTHORRE] O rTH3.

ik 2, 2ELHREIREER EBR—VHRI TBRINLY,

O RN RN YN TR

TR



MMFJP
テキスト ボックス
9



R S

§
=511 £ X 3 & & = : 3E B (0TE)
%
@Er=, AM105E%) %
g 1 g 2 fI g 3 f £ 4 M g 5 M :% £ 6 fr g 7 f& g 8 fiI g 9 f1 = 10 fx

£ ® 5
E/4 B |FECE| % W PECE| ® B |PECE| 3E B |ZELCE| T R |FECE 3E B |pErE| % B O[FECE| % H |FECE| 3% " |FEcE| 3E A (FEEE
wmaMeE B I E % B|175.8F B H &£ ) 1084 L & B| T0E =| soo|F B 0 = &| 40.9 FARUSEEX| 332 # K| n8E m E ¥ K B 1M3)H & 14.7|8 B %] 12.9
a0 mmEE S IBEEHRE | 11080, & a| Nn.9E =| 46F B O F ¥ 4.0 BARUERESX| 222 & &| 203®% I E % &£ 2| 1868 | 152 B %| 11.3
o lmmE s BlElEEF E p nsolh & OB BIE x| s3F B0 T & 49 HARUSERL| 28.7|EMEMES| 18.3(2 #® #| 17.8|8 8| u2|zoposzrmEsoss| 1.4
g 53 |mmE & 8| 1B3E £ F £ B 46D = m| s02F B 0 T W 40.2%F | 394 BARUSES| 31.8|HIEHEES| 17.9(2 & #%| 16.8|H | 145\F B . % 12
v lmmE s s maE g H & w ne2ln & OB SANF B o =W 22F | 371 BARUSETR| 31.6|BEEESE| 17.0(2 & #| 16.1|8 | 145(8 = z| 1.8
5 o e % 8 168E K F £ ¥ 163 L m B s6TF E o T & 25F | 38.1 BARUSESRE| M1|EnEERS] 17.7|2 = #%| 15.4/H 2| 15.3|FF 1 = 12.5
6 B o EOE S| 16962 B F £ o 7.7l B B| 0T E O = K| 40.7]F | 34.0 BARUSERA| B.4A|BMEREER| 16.7|/8H #| 15.62 = #| 13.00FF = z=| 125
47 B m E E B|167|E = m & | woal B OE| 81L21F B 0 = ¥ 40.11%E 3| 30.8 BARUSKELR| 28.1|H 2 wolE L E # & B| 165K - % 12.812 7 #%| 11.9
s |mom E o= 8| 16690E & F & B 22n K sl walr B 0 = &| F2WRRUREIR| 313 £ 3| 30.0|@mEREZRE| 17.5|8 B 17.4|FF B z| 13.2|2 #® | 11
0 |BomeE % 2 3.0E K F & B 122 oL = B 808[F E o F#| 3.0 HRRUREZR| 32.6 £ 3| 20.7|BmEEEKS| 18.4|H | 17.5|F = ZE| 1342 2 | 104
so B E K B|67E EHF & 3| 122.6{L & al| soo|HaRUSEXR| 3BT B o F ¥ 303 ES =| 26.9(H #%| 18.0|F 1 E # & 8| 17.8|F ® Z| 13.6|% = #| 9.5
s |momE % B BA5EEF & B 1530 5 B| wlBERUSELE| R6F E O F #| 28.0 k2 | 26.4[EmERERE| 17.6|H #®| 17.6|FF B 7| 13.8|1% & #%| 85
o oo E R B M8E K H £ W WYL K sl olzjmxRUSEER| BT B O E® 267 E =| 25.0|8 2 wom m E # 5 & 7.0 B 7| 13.6[% R & 84
3 mmE & B ug2|= B F & 9| 1313|L &= =] 93.3 FERUSEZE| 3T E O = | 26.2 Z 3| 24.4|8 2 1elE I FE # & B| 16.4)F ® Z| 14.0{% 73 7| 85

)
o = B D= . 5 s O3
o lmm s e waE e F s B mb KB GEARURERR 852 %=| 2.5 TROLE il 2| molmmrzervEEE| u2m m E ® & B 1ol TR s
: SR USER £ é TEOBH y5ilp @ 17|BEFRERUIEZ 14208 p| 13.7|BEA7 D CERE

= |momE % B 1350E W £ B 1BLL K | 106.2|BARUSESR| 3B.7E | 21.6 . RUS=EER 2 & 1. FrEa uols m E % & B B 47 a0 -— 2| 58
o b e wwolmm & o8| 33lp KB WSEARURERR 3.7|% =| .5 TEOGE usla 2| ualssmssrorez| uols n E & 5 B B0 TIERY o
o e ow s | ol o E R Bl L50|L  F 8| 1067 IREUKERR molk LG El ur % o mals & wslmeresrormz| wolm n £ & = 8| nABRATTIERR) o
o lm o m a m| usalm B R B| 1280 f B MLIERKUGERE 203 B 2.5 % 50 % z=| 2078 2| noltrssrorEs| uils m E & % 8 1355 o YERE 103

o |m i % 4 | 15258 mE KB nrele & 8| 13.9|WERRUREZR| 3.6 NAl|BEFESRUVEESZ| U42E o E & £ B 10.9|% Z’,";g‘;—f ERE 106

S
af
i

2.6 % #| 2.1|8 gl walserserorez| w57 SERE| wofE m E B & B 106

SEY
S
By
ol
=

o B

6 |= & w4 w6l H® B 173 B E & B N22|WRRUCKERR| 2.7

W

23.7 = =| 22.2\a 2| no|leprssnorEz| 14.0B%F75F ERE| nejm m E & & B8 97

K]
at

1
i

g 1 % & #| seslc % B 109H M & & B 1069 HRRUSEXR| .9

%
i
N}

=i

B
=
i=2)

e e T R

ok
o
N
oy
m
i




